WARNING:

USE THIS HARDWARE TO FIT
WITHOUT PANNIERS

Cod.204667

Aluminium spacer

Db-killer N.32B

LV ONE EVO big silencer black

L 370 x® 50 RHS
Cod.3014330485U

I

125

Allen screw M8X45
T.C.Z.B.

Cod.201450

Aluminium spacer
@27X8,5X11
Cod. 204321

Co0d.3014330501

Carbon clamp FBTAS

tensile
Co0d.303949001

Short helical spring

Cod. 204321

2x Aluminium spacer

Co0d.200314

Allen screw M8X25

Knurled collar nut M8
Cod.200298

BIKE'S FRAME

Co0d.307762801

110

Carbon cover
Cod.0814330001

Strap in s.s @45
C0d.300045530

N°4 Mounting
plate M5
Co0d.204555

Pipe N°1282
Co0d.3014330201

Carbon cover
Cod.088741002

N

°8 Graphite Gasket,

Co0d.406580

4 xPlain washer 5x15

&\ Cod.200371

4X Allen screw M5X12
T.C.Z.B.
Cod.201031

2x Knurled collar nut M8

Co0d.200298

BIKE'S FRAME

Carbon brackef]
Co0d.088234001

Aluminium spacer
Cod.204667

Allen screw M8X50
T.C.Z.B.

Cod.200461
WARNING:

USE THIS HARDWARE TO FIT
WITH ORIGINAL PANNIERS

ART. 14330EBU

YAMAHA TENERE 700
(fits with original panniers and centre stand) ( also fits 35 kW version)

SLIP ON - LV ONE EVO - BLACK



